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PC: Transformations of Functions Ms. Loughran

Do Now Activity

You can use your graphing calculator.

1. Graph y=x’.

A

2. Graph y=(x+4)" and describe how it is related to y = x?.
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3. Graph y=(x-2)* and describe how it is related to y = x?.
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4. Graph y=x"+4 and describe how it is related to y = x".
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5. Graph y =x? -2 and describe how it is related to y = x*.
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6. Graph y =—x’ and describe how it is related to y = x’.
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7. Graph y=(-x)* and describe how it is related to y = x°.
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Use what you have discovered in questions 1 —7 to fill in the following blanks:

e flx) +ais fix) shifted T\ a units

e flx)—ais flx) shifted \I/ a units

e flx+a)is fix) shifted ‘4'c+ a units

e flx—a) is flx) shifted (k 6\I\+ a units

* —flx) is flx) reflected over the ’)[’ KX l.J—

e fl—x) is f{x) reflected over the u "M ( ‘S
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Name: Date:
PC: Transformations Ms. Loughran

Given each original function, describe each transformation in terms of the original
function.

1. y=x? 5 y=|x|
(@) y=x"-2 @) y=[x|-2 v A
(b) y=(x-2y (®) y=|x-2| right 2
(c) y=x"+2 (© y=|x[+2 T2
(d) y=(x+2)’ (d) y=|x+2| I A .
€ y=(-x)’ (© y=-|x| relect oves x-R¥S
(0 y=-x () y=—fe+1] (G |unct, rlecto x-ade
() y=—(x+1y @ y=-x+1 (tllect oves x-oxis ;T
(h) y=(x=1)"+3 () y=|x+3-2 Wt 3, L
(i) y=(x+3’-1 G y=—fil-2 rifuck ovus x-mis V&
() y=2-(x-4y 9 () y==]x=1]+3 rignt Oal,ﬂﬂtddvv‘;(;\m
[k\ Lg:: — ()(—'—[)4— A
3. y=vx 4, y=x'
@ y=vz-] @ y=(-1
() y=+x+2 (b) y=x'—4
(c) )’=m (c) y=—-x3
(@) y=-vx @) y=—(x+2)
(e) y=—vx+1 ) y=(-x)
® y=vx-3 O y=2+x
(g) y=—Vvx+2 (2) y=—4-x°
(h) y==vx-3+1
(i) y=—-4-+x

() y=vx-1+2
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Key Points
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Square Root

Equation:

Fx)=0
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Transformation Rules

e f{x) *+ ais f{x) shifted upward a units
e flx) — ais f(x) shifted downward a units
o flx + a) is f{x) shifted left a units
e f{x — a)is f{x) shifted right @ units
e —f{x)is f{x) flipped upside down ("reflected about the x-axis")

o f(—x) is the mirror of f{x) ("reflected about the y-axis")
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